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Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of sixty (60) multiple-choice type of questions,

out of which the candidate would be required to answer an

fifty (50) questions. In the event of the candidate attempting
more than fifty questions, the first fifty questions attempted
by the candidate would be evaluated.

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(€73) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iit) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO,

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Paper I

APR - 00117/1—C

gyutent I

Time Allowed : 75 Minutes]
Note

carrying Two (2) marks.

[Maximum Marks : 100

: (1) This Paper contains Sixty (60) multiple choice questions, each question

(2) Attempt any Fifty (50) questions.

3T

: (1) A YU 918 (60) dgMHas Tvd foet STHA Udeh UeAmel &M (2) 0

(2) HUAR TN (50) YT IW T

In the context of Indian media

the entities represented by
abbreviations — PCI, CBFC, NBA,
ASCI are collectively called as :

(A) media owners organisations

(B) set of media laws in the

constitution
(C) media regulatory bodies
(D) audience measurement bodies
What is ‘Prasar Bharati’ ?

(A) a private company owning TV

channels

(B) a telecom company owning a

large mobile network

(C) an advertising and public

relation wing of the central govt.

(D) an autonomous body for public

radio and TV broadcasting

1.

IRAT ATEAAT=A] S (e,
‘FEruwd.’, ‘e, ‘remdem.
71 ereearr FARRTa g seet
Th{aq0l k1T Helgd Sd ?

(A) HI=HY ATAeRT= G

(B) YRAIT Sl AISTHESET S
T

(C) Hrezm fAames Ten

(D) HeTH ek HIUA GeAq

‘TOR 9Rd’ WUS % ?

(A) TIeEl aTfe=ar=i HicTeh! 31T Teh
W YT

(B) WieEe™@ HIS Wed AT Teh

) s

(C) g TIHRE] Wfedd o S8YHh

fgoges T faum

(D) HESieh &l fes a9 Sl
FIUMER AT TATIT STelelt Tara
Treq

[P.T.O.



Which of the following is not a
correct statement in the context of
communication ?

(A) Non-verbal communication
predates verbal communication

(B) Non-verbal messages are
culture and context
independent

(C) Non-verbal clues may compli-
ment as well as contradict
verbal messages

(D) Non-verbal capacities are more
innate in us than verbal

The categorization of human
communication into intrapersonal,
interpersonal, group and mass

OOATNTMTIIN ﬂ‘)*‘ 'aYe) Q mo ]‘7 I\OQDA nmMn
communicanion 1s J.LL(J.LLLLJ MADUTu Uil

the criteria of :

(A) technical medium involved in
communication

(B) nature of messages exchanged
in communication

(C) number of participants
involved in communication

(D) effectiveness of communication

Identify the correct pair from the
following :

(A) Teaching in classroom — Group
communication

(B) Evaluating answer-sheets —
Non-verbal communication

(C) Teaching with PowerPoint —
Mass communication

(D) Debating in classroom — Phatic
communication

APR - 00117/1—C

GO HeHid Jeretushl shiv faem

qh R ?

(A) fI:3Tc EIM99 9G¥ AT
et SAfIETa e

(B) f:3reg 991 § Weplt 9 weof fRue
ST

(C) Trvme gon a1 oy w9 Teemen
T & w1 foiEEd 3%
IThATd

(D) TR IR qaia :316
TR SAfEeh 370 Thd STEara

OHel A TEEATIE, SFeRiaid

TR, TEHAM o SHAATIA 279 o]
~ N o~ NN

&I hIve Rt el S ?

(A) FJATIATETST Il edr  aifas
HIEIHER

(B) GHATIATHER STETAYST  HATA AT

T WEUTeR
(C) TS YN T Teder

(D) anquWT T HTd &TqaaT g1
qRUTHeR R e

et @ S s

(A) =idia ferefadt — Ted=TA
(B) STRUfeRT qures — f:3es g9
(C) UleRuiEegR Rrehfadl — SE=ATH

(D) oA arefadre S0 — =i

9 (Wiesh HEGThe)




The perspective that ‘communication
is essentially a meaning making

process’ logically implies that :
(A) sender is more important

(B) medium is more important
(C) transmission is more important
(D) decoding is more important

A person on a bicycle travels from
a place X to a place Y by speed
30 km/hr and coming back by speed
20 km/hr. What is the average

speed of the person in the tour ?
(A) 24 km/hr

(B) 25 km/hr

(C) 26 km/hr

(D) 25.5 km/hr

In a city there are 50 squares
(including dead ends). Among these
squares, m squares are there each
of which is adjacent to odd number
of roads. Then which of the following

is impossible for the value of m ?
(A) 10
(B) 2
(&M
(D) 15
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‘T @ Hod: AY wevare Uikl
3y’ =1 gitehHTET U difehes o1 o7&
I

(A) U5 B AYF AT T
(B) WieAq ¥ 3if¥eh o™ STd
(C) 9890 ¥ 3AfYeh Hewr T8
(D) 319 Iohal &IFT STeh FEemal ST9d

Th TR TR X 1 {ShTomaegT Y =
foshroll It 30 km/hr STTH STl AN

TG IaET aEl 20 km/hr S A4l
o Ghd WRE a1 haHed JEd
9 TRt 2

(A) 24 km/hr

(B) 25 km/hr
(C) 26 km/hr
(D) 25.5 km/hr

ThT IeUd 50 ek 3Ted (SAHES W&l
gaTEl ool gHIfase A®). AT
HIhTUh! m Tk 3T 3A_d ki, AU
Jo¥eh Hhld AU T&=l Tt foom
3R R m < foha g fecresn wafarant
IV ST TR AR ?

(A) 10

(B) 2
C) 0
D) 15

[P.T.O.



10.

In an arbitrary group of six people,
which of the following situations is

impossible ?

(A) At least five of them know each
other and two of them do not

know each other.

(B) At least four of them know each
other and three of them do not

know each other.

(C) No three of them know each
other and no three of them

unknown to each other.

(D) No four of them are unknown
to each other and there is a

person known to every other.

Let m be a 3 digit natural number
such that the sum of the digits is
18 and the product of the digits is
zero. Then which of the following is

not true ?
(A) m is divisible by 3

(B) Either m is divisible by 10 or
it is divisible by 101

(C) Either m is odd or divisible
by 11

(D) m is divisible by 9 and divisible
by 13

10.
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e KA TG, WICAcUsh! ShIoT
T I AR ?
(A) FHHG HH U T ThHRT
eaterdra 3T S SRl TehHehil
3Mesterd el
FHHG FHH IR Tl THHSBET
eBErard 3T T SHeRit TehHehTT
3Mesterd el
HITTATE I Tl THABTAD
SMesdrd 319 gl AT hIvrTS!

AT TR ThHeRT Il 3R

3 & AL
HITATE! IR Tl Th U
SMeslrdrd 39 Al 3 78 Tk

SRt 378 Rt a1 U7 ST ShIvTdTE!
Rt § Sl UhHehl SHI@Edrd.

HAST m & 9 STl 9fiie TEHe
31RO 18 STHA TR UMK
0 R Eeiads! RV foam e
;e ?

(A) m o dHH 9T ST

(B) Tohd m & 10 9 91 9 A8A
foram 101 3 9 S

(C) m & & favmq s@a fawar faan
11 5 91 S

D) m I TG 9 7 9N I F 13
q qUl 9RT S

(B)

(©)

(D)




11.

12.

Let 1. L, 1 1

et x, = +2+3+ ........ +n.

1

That means, x; = 1, x9 = 1 + 5
1 1

x3=1+5+§andsoon.Then

which of the following statements
is true ?
(A 1< x, <2, for every n.

(B) For any integer M, there is an
n such that x, > M.

(C) There is an integer m such that
xn+1<xnforsomen2m.

(D) For any positive integer m,
there
x

is no n such that

n+1—xn<10_m.

A certain metropolitan area has a
population of 9 million, of whom 5
million live in the city and 4 million
live in the suburbs. Each year, only
20% of the suburbanites move to the
city, while 40% of the city dwellers
move to the suburbs. Ignoring the
effects of births, deaths and
what will be the
population of the

migration,
city after
completing two years ?

(A) 3.8 million
(B) 5.2 million
(C) 3.32 million
(D) 5.68 million

12.
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1 1 1

Wxn—1+5+§+ ........ +

1

T—E”l@ X1 = 1, X9 = 1 + 5,
1 1

xg=1+ 5 + 3 . AT HI

faum @ = ?
(A)Wnﬂ'@,lﬁxnsz

(B) wIvemgl feciedn qui de M 9@l
1 n fHear =t x, = M.

st wh Ui "' m fHed &t
WanWxn+l<xn.
feeiean ShITTEl o[ quTieh m Eiel
Wnﬁlﬁxn+1—xn< 107,
S n YYQ Y AR

Teh! HRMTRET clehd@ 9 @Rg 2T6.
e 5 A ¥EUd Uedid o 4
SUTTRIG TR Wedieh ast 20% STTRITE
ol IRUa AR S 9 40%
IERATHE TR IR Idrd. S
S, g 9 fawarEn drshaeHe’
SHIUTE! TROMH el ATl 318 A\, W

T IR STelarEaEl e fhdl ?

(C)

(D)

(A) 3.8 million
(B) 5.2 million
(C) 3.32 million

(D) 5.68 million

[P.T.O.



13.

14.

15.

Which of the following will complete

the numerical series ?

(D) 94

Which of the following will complete

the series ?
BDF, HJL, ........ , WYA.
(A) NPR
(B) 0QS
(C) OPQ
(D) NOP

In a code language, the word
‘TRAIN’ is coded as ‘SSZJM’, then
what is the code for the word

‘STUDY’ ?

(A) RUTEX
(B) TUVEZ
(C) RSTCX

(D) RUVEZ

13.

14.

15.

APR - 00117/1—C
qEAdH! RO TATT KA g
A ?

(D) 94

qad®T wIvAr wAta 4 gt
A ?

BDF, HJL, ........ , WYA.
(A) NPR
(B) 0QS
(C) OPQ
(D) NOP

T Wiehfasw AOA TRAIN® & ¥
‘SSZJM’ 3T ®UART hell, d¥ <
aod ‘STUDY’ & Isg helr feffed
REC I

(A) RUTEX

(B) TUVEZ
(C) RSTCX

(D) RUVEZ
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16. Which of the following shows the 16, W FIT SR @Eo'l_s;, Teremeft

correct relationship among players,

students and girls ?

(A)

DO

©)

(D)

STITOT it AT HaY aeR Srefad 7

(A)

DO

(©)

(D)

[P.T.O.



17.

18.

Ashok jumped higher than Mohan
but not higher than Chetan. Naresh
jumped higher than Krishna but not
as high as that of Mohan. Then what
is the correct descending order of
players considering their jump ?
(A) Mohan, Chetan, Ashok, Naresh,
Krishna

Chetan, Mohan, Ashok, Naresh,
Krishna

Chetan, Ashok, Mohan, Naresh,
Krishna

Chetan, Naresh, Mohan, Ashok,
Krishna

(B)
©)

(D)

Based on the following statements
which of the conclusion/s, given
below will follow/s ?

Statement A :

All social workers are politicians.
Statement B :

Some politicians are professional.
Conclusion I :

No social worker is a politician.
Conclusion II :

All politicians are professional.
(A) Only I follows

(B) Only II follows

(C) Both I and II follow

(D) Neither I nor II follows

17.

18.
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3TYTRA HIgTIe 39 31 AReA, T
TAT9ET 39 ISl ARGl ARl I
Tae! Set AR ATl T 9 e Saidl
% HEl FHA ?
(A) WIed, a9, 319k, ST, Fom
(B) <A, Higd, 319leh, L, FHoum
(C) =¥, ST9Meh, HIgH, 7RI, FHo0T
(D) <aHd, I, Higd, 3790k, Houn

e fasmr=n R somn(q) s
hredl Add ?

faam= 31

Td AR hTdehd TSTeRRON 3R,

faam &

FTRI STRIO SATEHE 3.
frewsl T ¢

Tl TS Hroichdl ISTRROT &L
freesl 11 -

T ST ST \‘Hl%d.

(A) e I STTEl

(B) e II STIEAl

(C) T suftr II S=EIE SATH
(D) I 9 II =8 @l ST

10



APR - 00117/1—C

19. In the following diagram the exports | 19 T S Cq, Cy, Cq e il
(in Crores of Rupees) of four .. X

IR HUATAT T el Fuien e

(I TUIEE) SerE e .

companies (Cq, Cy, C3 and C,) are

given for three consecutive years.

90 ~
I:' G [m G E G G

80

70

60

50 4

40 -

30 H

20 ~

10 +

0

2013 2014 2015
Exports of the Companies (C,-C)) in Crores of Rupees
Over the three years period, the =1 S T A e
company which has shown the
highest variability in their exports
is : (A) CZ
A C
2 (B) C,
®) C,
C) C

(C) Cy 3
(D) C, (D) Cy

11 [P.T.O.



20.

21.

Using the
question,

diagram of above
which of the two
companies’ average exports can be
considered to be close during the
three years ?

(A) C; and C4
(B) C4 and Cg
(C) Cq and G,
(D) Cy and C,

A scientist collected 11 observations
in connection with a particular
experiment and calculated the
summary measures such as mean,
median, variance, maximum and
minimum. Later, the scientist found
that two observations 54 and 43 were
wrongly recorded as 45 and 34.

Which of the following statements

are true in this context ?

(z) Corrected mean will be larger
than the initial mean.

(zz) If the initial median was 36,
then the corrected median
would be less than 36.

(i11) The initial variance and the
corrected variance are same.

(A) () and (iiz)

(B) (i1) and (ii1)

(C) (i) only

(D) (@) only

20.

21.
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e YRS SThdia® a1 T Ioie
FHIAEHT HIET TH HIAE TOH
frafa wemRer ¥ e sy ?

(A) C; 9 Cg
(B) C, 9 Cg
(C) C; @ Cy
D) Cy & C,

T IMEEE AR w11 Fiem
Fiefae. FR® @M @ 11 FRiemias
T, v, fa=)un, wae e 9
formm fA0reIoT Shleet. G M= A&Td
3TeA =l 54 o 43 B QM R8T TSI
45 9 34 3TNt Aigforett et B,

[aV o0 (aV LY [aV = (aV
aXlel Hlledlawq gl enl onlVidl

faum ffvadqun @ oM ?

() g el & J= qUEiue
AfHH .

(i) St HERT 36 A YHIid
TR 36 Ua HHl T

(i) geanid fo=ro 9 S fo=ro w9m
3.

(A) () 3T (3id)

(B) (i) 37T (iid)
(C) e (iii)

(D) % (@)

12



22. Percentage of students of a college

who are involved in different sports

activities are given in a pie diagram.

Not involved in any
game, 18%

Suppose there are 5240 students in
this college. Which of the following
are correct ?

() Approximately central angle of
the portion corresponding to
Badminton is 58°.

(z1) Approximately the total number
of students who play some game
or other is 4297.

(zi1) Approximately, the number of
students who play tennis is less
than those playing the cricket
by 500.

(A) (@) and (ir)

(B) (@) and (i)
(C) (@) and (iiz)
(D) (@i) only

APR - 00117/1—C

22. YA UM SThdid HIfaaraardia

fafayr el SUHAHE Feurl B
foeneaf=t egha) feeit omR.

Not involved in any
game, 18%

I HEIfeTaad TR 5240 formmef
AGATE WTATAdRT HIo faem
oo o emead ?

() SSfHST=IT Ulhoslal Hhald ki
HIRUd: 58° 37TR.

(i) THAM THT FISTYSRG TEUTN
o= foeneaf=t G HIHmon
4297 3TR.

OAKARE: fomneaf=t we,
fshehe Weour=a famneat=n T=aua
HYROE: 500 T HH 2R

(A) () o (i)

(B) (@) 7o (i)
(C) (i) SO (i7)
(D) & (i)

13

[P.T.O.



23. In the following diagram, seven

cities are connected via two-way

roads (no arrows) and one-way roads

(with arrows) as a network.

Y U

Q

The number of distinct paths from

city V to city R, without going

through any city more than once

is :

(A) 3

(B) 4

C) 5

D) 6

APR - 00117/1—C

23. TeId SATHdd 9 I F A SR

T T9iael 31Rd. S feen <vieeial W&

N A N

Qenll A Y A

& @ g o

\4 U

V A1 IRUIEA R A1 R S0ArEe]
IR TR Qe 7 SO et

fafs= art emea ?

(A) 3

(B) 4

C) 5

D) 6

14



24.

25.

Consider the network diagram given
in the previous question. Suppose
that the road connecting T and R
got damaged and therefore, traffic

cannot go along that road.

Then, the number of distinct ways
in which city R can be reached from
city Q without going through any

city more than once is :
(A) 3
B) 1
C) 4
D) 2

What is the full form of ‘http’ in the

context of Internet ?

(A)

Higher text transmission

process

(B) Higher technical textual

platform

(©)

Hypertext transfer protocol

(D)

Hyper transmission of truncated

procedures

24.

25.

APR - 00117/I—C
I GEAIS! QElTel Sl G STehate

aqT Y. HHST T 9 R A1 ?l'i'»{i"ll SIS

AT ThdH e Al STaeh el

de HLOG STl 3TTe.

aen ufifterdld Q o YEUURE R A
TRUTHA STUATEIS! IR TR Sl
T SR foRdt fafy= AF stea ?

A) 3
B) 1
C) 4

D) 2

3T HeHid ‘T (http)

N o NN
AYg@yld [dARwY enlYld ?

(A) TR R MY qEE

(B) TRR el oRg3Td @iehH

(C) THWIFZ W GRIhia

(D) TER TAMHTH h Tehes W™

15

[P.T.O.



26.

27.

28.

Identify the incorrect pair from the

following :

(A) .jpg — graphic file

(B) .ttf — word text file
(C) .wav — audio file
(D) .exe — executable file

Identify the correct ascending order

of the units of digital memory :

(A) megabyte, petabyte, gigabyte,
terabyte

(B) megabyte, terabyte, petabyte,
gigabyte

(C) gigabyte, megabyte, petabyte,
terabyte

(D) megabyte, gigabyte, terabyte,
petabyte

In the context of Internet, the
facility in which the server
application allows many users to
create and edit pages on a website
through their browser is called

as :

(A) Hacking
(B) Troll

(C) Cybernatics
(D) Wiki

26.

27.

28.
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eI EET I C RS U o)
(A) jpg — WfHEH HrEA

(B) .ttf — a€ TR wrEA

(C) .wav — 3iffesll (&rt) ®rEA

(D) .exe — TREHRTA HEA

fefSea Aeam THhaiar Eeitadsh]

R Fe&dl HY T 3T ?

(A) AEEe, Yereree, firmense, Sqere

(B) WTeMEe, EEe, UerEEe, fimmee

(C) firmerde, TmeEe, eEEe, e

(D) TTeEe, firmerge, SEEe, YeEmEe,

T TSuld, 3T ITIehcd-T T
JeETECR TES -d Seus] {01 s
1 GUIEd HIOAT JAT SO WeR
STATh = Yiaea s B ?

(A) FET

(B) &=

(C) THeAfed
(D) o=t

16



29.

30.

Identify the correct chronology of

the internet facilities from the

following :

(A) IMDb, Google, LinkedIn,
YouTube

(B) Google, IMDb, YouTube,
LinkedIn

(C) Google, YouTube, LinkedIn,

IMDb

(D) LinkedIn, Google, YouTube,

IMDb

Identify the correct pair from the

following :

(A) Google — Bill Gates

(B) Hotmail — Tim Cook

(C) Wikipedia — Jimmy Wales

(D) YouTube — Richard Stallman

29.

30.
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geiealid giauran qeadsh! o

HAHY g AR ?

(A) STETHER, e, foaFesd, g=@

(B) e, STUHSTET, geud, foiaes

(C) T, Jeod, Tadesd, sTEuHSTE

(D) foeesd, e, Jeud, STEauHSTs
AUl qrg SEl e

A) T — foa ey

(B) ®eHa — feom ==&

(C) fafwfufear — o aed

(D) Fegd — = wamm

31. Bhopal disaster is caused due to : 3L T Sﬁd'ﬂ = IOTCT *'{U“t‘»& TSt ?
(A) Methyl isocyanate (A) TreEe ardrETe
(B) Ethyl isocyanate (B) 39S G
(C) Sodium cyanate (C) WEFH 9Ee
(D) Potassium cyanate (D) TR HEHe
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32.

33.

34.

35.

The major cause of water borne

disease is due to contamination by :
(A) sewage

(B) chemicals

(C) hazardous waste

(D) dyes

Mangrove is a special type of

ecosystem and is found along :
(A) estuary

(B) hill slopes

(C) plateau

(D) freshwater lakes

Kyoto Protocol is an agreement to :
(A) reduce global warming

(B) reduce acid rain

(C) undertake plantation program
(D) reduce soil erosion

Water resource is a key for the
dispute between states. Cauvery

dispute is between :

(A) Maharashtra & Karnataka
(B) Karnataka & Telangana
(C) Karnataka & Tamil Nadu
(D) Orissa & Madhya Pradesh

32.

33.

34.

35.

APR-001171—C
AT fAfe T Weierien! oS
(A) WA
(B) TEm@EfTH

(C) dRE® He

(D) VA

. o oY AN A
qﬁg@ﬁ LRl Aqq4dl el en]
N

h [OTCT
(A) et
(B) 'R R

feRTon HIsd ?

(C) SR WeR

(D) Tire qvgr HleX

FE wRTSAE e SeW
(A) SITfdeh qUHMET e S0

(B) 3T UrSdrd WHOT HHET H{O

(C) TSl dANTEE &)

(D) ST gu wH HOAHEE]

SASATT U= Ty 9% AdYe
<] 3TTed. ThIeR] & = IUFTeRE vl

F TG HqANS 3TRd ?

(A) HERTSZ & WUl

(B) hUllesh & T

(C) hUllesh o AHIBS,

(D) 3T o HEaueyl
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National Park in Maharashtra ? e ?
(B) Nandhavgarh National Park (B) S¥eTE UST ST
(C) Nagarhol National Park (C) TR T e
(D) Madhav National Park (D) AEE TEF ST
37. Which of the following five pillars 37 SeifiTs SR 2016 HE FOR U WY
are expected in Education Policy - .
ST UL e hoATd STl
2016 ?
e ?
(A) Availability, Affordable
education, Equitability, Status (A) SUASET, YIGSUTR 9787707,
and Accountability e, TSt e SeeTE
(B) Knowledge facilitating, .
(B) M UI&it AW, I HeheddT, IH
Knowledge concept, Knowledge
. . fafddt, I@= SudieE emfor e
creation, Application of
knowledge and Delivery of foram
services ~ - &
(C) TMmedl Ta-T HHIST, THISTIN, h(RIe
(C) Deschooling society, Economical, g, T o
Exchange of Skills, Self Rating .
ENICE
and Research
(D) E-governance, Ecology, Social (D) 3w, *iferes afefeerdt, A
Audit, Environmental validity, T TI&T0T, YOO SEar ST
Self Learning device = S S
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38.

39.

Education is manifestation of divine

perfection already existing in man

defined by

(A) John Dewey

(B) Swami Vivekananda
(C) Plato

(D) Whitehead

Identify the correct answer of
Articles and its provision regarding

the University Act, 1994 :

(1) Article-81 — Conditions for

affiliation and recognition

(2) Article-82 — Procedure of

permission to Grant

(3) Article-83 — Affiliation
procedure
(4) Article-84 — Procedure of

Grant of affiliation to colleges

(A) Only (1) and (2) are correct

(B) Only (1), (2) and (4) are correct

(C) Only (1), (2) and (3) are correct

(D) (1), (2), (3) and (4) all are correct

38.

39.

APR - 00117/1—C

A G Sl Sat Jufam
JeheleheUl HT0 TRUTSl fRreror 2 oTeh
fererom=n =amE RIEi)
el

(A) SI9 =R

o

(B) @t fa

(C) =i

(D) =TEeRe

feriTdia T 1994 Heiel et o i

TR € 3eh Al

(1) T7oH-81 — HerIehol 9 H=IdH
KK

(2) FPm-82 — Warh faavargs it
CARREl

(3) fTH-83 — HATHIHI HITIATE
EAPREI]

(4) TEH-84 — UBII=ETAIET AT
ST RISl

(A) e (1) 3TIfOT (2) e’ 378

~ s
don s

(B) e (1), (2) M1 (4) SR 3T®
(C) e (1), (2) M (3) &R 3A®
D) (1), (2), (3) 3T (4) =X 3T
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40' Sam PitrOda served as - 40, ﬁ.q. ftlsha_l. '5|'|T'ﬁ ............................. .I%.UE.
Et Bl IFIC
(&) UGC Charman (A) faamdic sreM e steas
(B) NKC Chairman (B) TFEjT{ IE ST AT
(C) NCTE Director ©) T frer fveron
(D) T Sreiforer GeleA 9@ wivteron
(D) NCERT Chairman qioRs areme
41. Veterinary education is related | 41. q@ﬁaﬂa foraquy g e
£0 weeeeeeeeeeeeen foreument ffea em®
(A) General Education (A) g™
(B) Medical Education (B) deuehi™
(C) Agricultural Education (C) it
(D) Technical Education (D) difeh
42. What is the full form of AICTE ? | 42 wema.d@t.dtZ (AICTE) =1 7o fowr
(A) All India Committee of FET ?
Technical Education 0
(A) e IR daE Refor |t
(B) All India Committee of
Technology and Education (B) siferet wdia dofwe smifor freror
(C) All India Council of Technical Gttt
Education .
(C) e v doE e afitvg
(D) All India Council of Trade
, (D) Afge YRAE AR e gikeg
Education
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43.

44.

The main objective of teaching

1S ceeeeieeeeeenens .

(A) to facilitate learning

(B)

to give information about

unknown facts

(C) to use teaching aids to simplify

the content

(D) to form good learning habits in

students

Academic learning time does not

depend upon .........ccceuunenn.... .

(A) content

(B) difficulty level of content

(C) time spent for learning

(D) students’ attitude towards

learning

44.

APR - 00117/1—C

(A) T gAY w0

(B) 3TS1d deATelleq= Hifgdt <or

(C) 3TRTT YT HITITEST 1 &Tfuren
HYEET ST hL0
(D) faemeafn sregeAmE= =TT

ot a9

regforer  s1eTEa wTAEEl (academic

learning time)
AT THI.
(A) AR

(B) 3= hifeuadrde!

(C) 3IFIATES Tdld holell hicTa e

(D) fommeat=t stezemMia Sifyext
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46.

is an essential

...............................

quality of the best teacher.

(A) Strong subject knowledge
(B) Genuine interest in teaching
(C) Language fluency

(D) Good presentation

................................ method of

teaching, teacher uses the maxim

known as ‘specific to general’.

45.

46.

APR - 00117/1—C

S NI e CROE R M E ML

(A) 39 faoagE

(B) SATTATE HAMIEA TS
(C) rererdt wron

(D) STH HEH
forerer ‘ fafersergs wmmaTRe’ R
FATE G (maxim) ST

(A) Analytical (A) fagervomers
(B) Synthesis (B) TS
(C) Inductive (C) ST
(D) Deductive (D) SAATH
47. The selection of teaching aid depends | 47. &fUre @ifgcar=h (teaching aid) fere
largely on the ... - U@ s T
(A) age of students W SAl
(B) interest of students (&) faeneats
(C) age and motivation of students (B) forneatsit st
(D) educational level and age of () famneafs 9 3 = o
students (D) foeneatan Jafr wR 9 A= T3
23 [P.T.O.



48. Ms. Sindhu conducts question-

49.

50.

answer session in her class to
determine the abilities of students,
at the beginning of an academic

year. This is termed

..........................

assessment.

(A) formative
(B) summative
(C) diagnostic
(D) cumulative

............................... thinking enables us
to write statements and develop

arguments in a step-by-step

coherent manner.
(A) Accurate

(B) Scientific
(C) Logical

(D) Clear

One of the following is a reference

management software :
(A) EndNote

(B) Turnitin

(C) Copyscape

(D) Viper

APR - 00117/1—C

48. egfork aEfen geEarwden, siAdr fayg

49.

50.

e e foeneaten emar fAfyed

IEERGREEC
ST faEm™ ShHRA™ TegE o aaGTol
ferg wrerd.

A) fagm

(B) IMERIS
(C) qHIT

(D) e

TG T T SR
TR,

(A) TUSAR

(B) g

(C) wide=hy

(D) =AW
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52.

53.

54.

of a research
article is placed near its beginning.

(A) summary
(B) abstract
(C) synopsis
(D) preface

A proposal that may provisionally
serve as the starting point for
further research is known as
hypothesis.

(A) one-sided
(B) inductive
(C) working
(D) non-directional

Research journals with a high
are commonly
considered to be more important
than those with lower ones.

(A) Eigen factor
(B) h-index

(C) impact factor
(D) 110 score

is a short-term,
intensive course for a small group,
emphasising problem solving or
learning newer techniques.

(A) workshop

(B) seminar
(C) summer school

(D) refresher course

51.

52.

53.

54.

APR - 00117/1—C

TINEA e geande
feffeen ST/ fetfeetl ST

(A) §&d
(B) 9T
(C) Y&
(D) WIS

S YT dlchlfaieh &I Y@l
TINEA & HUAMS! AT Sl &

............................. B iy
(A) THaH

(B) SAJHMTHSR

(C) rE®R

(D) :ferH

S S S — =

T, T S AT ST He<er=Al
e T FAUHROYl GHSTS! ST

(A) 3TAH TR

(B) TH-YgeHI®
(C) gy fademen

(D) i10 YT

q AT, @A ISIHHA T8
T GHE-GHeE fohar e a3
YT 0O Hed fool <.

(A) HEEE
(B) ==
(C) 3=l o
(D) STl i
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Answer question Nos. 55 to 60
based on either the English

passage or the Marathi passage :

The Middle Ages is a period in
European history from about the
400s to 1400 A.D. During these
years, also known as the Medieval
period, Europe evolved from ancient
to modern times. This gradual
change began when the Roman
Empire collapsed in Western Europe
during the 400s. Many people
believe that after this collapse
culture and society declined. The
Middle Ages is sometimes called the

Dark Ages because of this belief.

In fact, the Middle Ages was a time
of great activity. The Roman Empire
was divided into many smaller
kingdoms. Most kings had little
control over their kingdoms. As a

result, hundreds of vassals with

APR-001171—C
U9 . 55 d 60 ¥ Je faeiean saramer

ATeTa Ard. suSiater femam
TS SATATaA oAt 3w’

IS |

R foaRM STUEl T Soed™

U AIAT AT GG
gfgurarreEEt, wifawaret gatem-
foamEamen a1 Sei 9 g
3 T faaR Wiga a1 Hel hRS
SUghaETR! fohar faenfie Fegd. @
Ty fed, g5 9 WeAg A=A HeoRl

SO SYTETel Had Fd SISU Bl

e 3 YERHIIATI T <
TSSO SATOT G EROmg T =
qUea=t 7 Hal ®A A FHSAA

fooHa=a Hd HeRIe AU g
BId SeAdid. A § aifeel 8 ohi, S5
faanrr=ar amR STEl

HHISIH el

fa

JBAB Al HISUT b dehi=dl

dcsiar Afeeares SHaeRIaean farsmei
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titles like prince, duke, and count
became independent rulers of their
own land. Their territories were
known as fiefs. They ruled like kings
through a form of government
known as feudalism. Under
feudalism, a king gave a fief in
return for a vassal’s loyalty and
service. The vassal promised to

protect the king and fight in his

army as a knight.

The vassal, in turn, would give part
of his fief to people who promised to
serve and protect him. The feudal
system of government created two
main classes of people. The ruling
class governed the peasants and
engaged in the fighting. The
peasants or serfs worked the land to
support themselves and their rulers.
There was also a third group of

people, the clergy, which served the

APR - 00117/1—C

ql eeFehT TIe Wehd Tegdl, Saie forsma
SEA: TRATIH AT HRRAYT et
Bl

T SO shedl, IO A 31

$ha@ TRITh HIARS FAFAA B,

I AR W OfHer &l |THITSTeR

AN faoHdr= S Haitees STEe o

STHY AR 1 e 3MM@esd aidl,

AT SR BT STuIr= TS ol
e M A s o e T o
foersn, 9ASA, ®E 9 ATHRMENR

Jrefoeg Tauey TS 33acl sidl.

dgifaes Udhea = gcgel HrHISh

RN S AqS ThHSaIuN STl

Il AT URIYel UIA AUIEAT
THSTA STREHRET (Proxies) Hed™
areu gd. fagia enfur Fwdt aAren

ORI Feiel a1 HieauaEel &l

yHfafheal STacd Sholdll  STHTATS
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55.

Church. The Church was the main
force that kept Europe together
during the Middle Ages. Church
leaders took over many functions of
government after the Roman
Empire collapsed. Most Europeans
were Christian. The Church had
great power over its people. It was
very wealthy and owned a lot of
land. It provided education and
encouraged literacy. It also

administered justice and created

hospitals for the sick.

The fall of Roman Empire in

European history :

(A) 1is believed to be the decline in

culture and society in Europe

(B)

is marked a period of gradual

change from belief to disbelief

(C) began in 1400 A.D.

(D) ushered in a sense of loss of

hope among the people

55.

APR - 00117/1—C
%o ST A

b A

EESEIEY

LY
Al

HET= FASHT TSl Togdl. 19541

IIASRTATA  ThaUd  FHATfaanad

Zgailiheh TREdHIETSr o™ e fefehean

N

(dal.

HgwaTl |l ol ACYTHTY

AU 3T GHTHRT -3 SHa8R,

STAUTd, TYIATTYTIAAT AR AT

I e C L N S | R IS IR R e e

SR AW e e @ SR

RN THAHT JId A=l 3THA )

YA g€ Sciell GURoE! dredre
qrIfSieh gere fG¥H B0 9T 8.

FieaumTIae s difqehareerRe

A medre faamrE SATell S

1%01@[ s

(A) ST HHT
(B) WULTAEE
(C) Tefaamiera

(D) SEgETIEd
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56. The period from 400 to 1400 A.D.

57.

58.

is known as :

(A) the modern period
(B) the medieval period
(C) the ancient period
(D) the period of unrest

The period of Middle Ages :

(A) marked the firm control of the
king over his kingdom

(B) witnessed the emergence of
many smaller kingdoms in

Europe

(C)

was the most passive period in

European history

(D) gave impetus to the idea of

central rulership

In the Middle Ages, the provinces
controlled by the prince, duke or

count were known as :
(A) regions
(B) vassals
(C) states

(D) fiefs

APR - 00117/1—C

56. THeATE HAHH HagH FHYETE! g

57.

58.

TURT AR; 991 O WHAessa foem
Te<d IUIRTE 3TE ¢

(A) 9gui faum I

(B) WUl faum s{ieR

(C) gaid aleR, STY I
(D) SWH R, qatd g%

M o

STEIIHTSITAT Tesaes N SRR STHET;
T GEEAT FEd wvard of ey

(A) gl faem I

(B) ¥qUi fasm s’

(C) gaid aleR, WY I
(D) 3WH R, qatd g%

R g€, ¥, WIU A ol

FOOE HRU RS

(A) SRS Fa3eos
(B) Hoaumi= Aot

(C) feguwifaweh sy
(D) er¥eeeddie oo
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59.

60.

In feudal system :

(I) kings were protected by the

vassals; and

(IT) the vassals were protected by

the people.

(A) (I) is right and (II) is wrong

(B) (I) is wrong and (II) is right

(C) Both (I) and (II) are right

(D) Both (I) and (II) are wrong

According to the passage, the main
authority that kept the European

Society together was :

(A) the feudal system

(B) the king

(C) the church

(D) the peasantry

59.

60.

APR - 00117/1—C

d o o~ fa a
H. ol HHHhcHl HEE[ ]

NI

(A) &= T

(B) agumHmg

(C) d<d o1 = YIS ATdi

Toroman

(D) STd Fwfaad

T IAATHTS] 3fereh WHUS  IMSiah

oA ?

(A) STEIHHS

(B) AEHHETS

(C) ewfafemd

(D) <AhER
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ROUGH WORK
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